goooboboboobbbbotbnouoouoooooad

00000000D?% = {(z,y) € R?* | 22+ ¢* < 1}, S' = 9D? = {(a,y) €
R? | 2?2 +y*=1},000b=(1,0000000000: (S4,b) — (D?b) 0O
ooo0

iy s (81, 0) — m(D?,0) 000000000 r:D? — S'00roi=idg 00
D00000000000000

00000000D*={(z,y) eR?*|2?+y*<1}000f:D*—D*0000
00000 f(z,y) = (z,y) 0000 (z,y) 0000000000000 O0OOOO
000000000000

0000 (v,y) € D?0000 f(z,y) # (x,y) 000000 (2/,y) € S' =0D? =
{(z,y) e R?* | 2 +¢?> =1} 00 (2",y), (z,y), f(z,y) 000000000000
00000000 r(z,y)=(2,¢/) 0000000000000 0O0OOOO

0000 X,YOOOOOOOOO f:X —VY,g:Y — XO0O0O0O0Ofog~idy,
gof~idy 0ODOODODODDODOOOXOYOOODOOOOOOODOOOOOO
X~YyOOOOXO0YOOOOOOOOOOOOOOOOfAOOOg) 00000
000000000000000000 ¢(000 f)0 f(000¢) 0000000
oooooO

gbboogdgboobboobboobbuoobbuobbd ~xgbboooobooo
goboboooooboobod

gooboogod

X = {(z,y,2) eR?| ((x2+y2)1/2—2)2—|—22 =1}
U{(:L',y,z)ER3}y:O,(:L'—Q)Q—i-ngl}

Y= {(@u.2) R | @2 +y2+:2 =1}
U{(z,y,2) ER? | y=0,(z = 1)* + 22 =1}

O0b00X,YOOoooooXxX,ygoooooooooboobooooooooo
obooobooboobuoobuoobooboobon

oboobooo

(1) R? — {two points} O S! x S' —{one point} 00 000000000000
goon

(0000000 S'vsS'0o0000000000000000stvsto
00000000000000000000000000000)



(2) 000D000000000000 R?—{two points} O S* x S —{one point}
gogboobooooboo

goboboooooboboooboboboboboooboboboboon
O0rooo0o0o02000000000,vO00000r=U0\U,I'=V\VO
gbooobgoobo

000ooooo f:S'*=R/21rZ — R* 0O
f(0) = (cos(26){2 + cos(30)},sin(20){2 + cos(36)}, sin(36))

00000 O fSHYOODODOOOR3-f(SHOOODODOODODOOOOOOOO
000000
mmmzﬂa%@|«ﬁ+ﬁﬂﬂ—wﬂw%:ummmmmmmmmmmDDDD
00000 oOoooo0)

00000000 0DDDODDODODODODOOOOO
D0D0DDDR*—-f(SHOOOOO ZOOOOOO0OO0O0OO0O0000O0O0O0O0O0OO
000000000

000000-,O00000"00mO0000000000R™O0000U0UO00OO0

0Oo0 f:/"—UO0000000 f00000000e00000g:1"—U

O sup |lg(t) — f(1)| <e DODDOO0O0000O(—s)g(t)+sf(t)eunnn
teln

gbooobog

00000000000 "00000000004I"0000mO0000000
DO0R™O0000UO0O0O0O000beUO000000 f: ™ 0I") — (U,b)00
ooof: (™ol — (U,b)00000000000000 g: (I",0I") — (U,b),
f:(ImoI" — (U,h))000000000000000 f: "1™ — (U,b)
D000000000000000000000000/"0»000000000
000000000000000000000000000000000000

O00000k<n-10000m R\ {0},brmjoy) 20000000000
k<nOOOOm(S"bs) 20000000000



goboboobouoogobobooooon

X=U,UlU, Uy, U, 000000U, Uy, Uiy = U, NU, 00000000000
belUnp,=0Nn0,000000000 4 :Ua — Uy, io:Uo — U 0000
O00000000000000 414 : m1(Ur2,b) — m (U, b), gy : m1(Ur2,b) —
m(U2,0) 0000000000000 O0O0O0O00O0

1 %N —_— Wl(Ul,b) *7T1(U2,b) I 7T1(X, b) — 1

0000 (U, b)«m (U, b) 0000000NOOm(Uy,b)xm(Us,b) 00000
{irsa(izea) ™ |a €m(Up,b)} 00000000000000MOO0000O0

1000000000000m(@b)  *  m(Uxb) 00000
™1 12,

god
(1)|:| f : ([051]7{051}) - (U1UU25b)DDDDf_1(U1)7 f_l(UQ) ooooo
oooooo0oOoooOoooOooOOo0oOo NODDOO 0,000 NODODDDOO

—1
[mN ’%]DDD fgupugn U2DDDDDDJC(%)D Ui\ Uiz, U\ U1z, U2 OO

m m—1 m
000f()0 00000 7,0 Uy, Up, U1, 00000 fll——, ] = fm O

ooond
[ = [uycib felvatve b f3iysh - - 0yv—10fn

0000 ymo1lifmim 0 U1 000 U,0000000000000000000
00oo000o0o0o0oon

(2)00000000000 f:(0,1,{0,1}) — (U;UlL,b) 0 bO0O000000
0000000000000 F:[0,1)2 — U, UU,00F(1,¢) = f(t), F(0,t) =b,
F(s,0)= F(s,1) =b000000000000F-YU,), F-Y(U,)000000

Oo00doooooooooooooo Nooooooo [0,1]2D N2OOOoooo
m—1 m n—1 n m n

_— = —, —| 0gg 0o gooooor 0

[ N ,N]X[ N ’N] " UTvl/l U2 (N,N) Ul\U127

U\ Uiz, U2 00000 F(55,5) 0 000000 Y O Uy, Uz, U1z 000
m n

0000 4, 00000F000000000000G(5;,+)=5000000
G: 0,12 — U, ul,00000G(1,t) = fail...0fvn O fap OO 7 (Uy,b) O
00 m(Us,b) 00000000000000000 f0 m(Uy,b)000 m(Us,b)
000000000000000@M[f0000000000000
000000, 0, 00000000000000000000000000000
00000000000 0,000 0,00000000,0000,0000000
00,0000 0,00000000000,,00000000000000000
00 aem(Up,b) 000000, 000000000000000 m(Uy,b)00
000 4,000000,00000000000mUs,b)00000 iyal000
00000000



0000000000000000000000000000000000000
0000 fon,s 9mn, Pmns kmn 000000000000000 m(Uy,b) 000
m(Up,b) 000D DO0O
D0000000000000000 fon = knn109m—1.n0hm, 1000000
0000000000 U, U, 0000 m(Uy,b), m(Us,b) 00D00D0O0000DOO
000 hmntkmn, fmalgn, 0000000000000 0,000 0,00000
0000m(U,b), m(Ux,0) 0000000000000 000000 U,0000
U,000000000000000000 a€m(Uz,b) 0000 iy.a(izea) t0
000pDoooooo

00000000000 fyiffaed.. 0fvn O gv—11lgv—120.. . lgy—1, 8y O N O
0000000000000000

In1bfnal .- 0fnn
(gn—11bhn1)i(kN1igN—1,20hN2)0 - - (kN V109N —1,N)
= gn-110(hn10kN1)EgN—1,20hN20 . B(hn Nv—1bkN N—1)igN—1,N
~ gN-1,109N—120. . BgN—1 N
lgN—1,20. .. 09N -1, NO(hN10kNL)IgN —120 .. BgN -1, N
th—1,3h S th—l,Nh cee
bgN—t,N0(hn,N—18kN,N—1)0gN-1,N
0000000000000 0gN-1,109N-1,2F- .- th—LN 0 fN—1,1th—1,2h ce th—LN
ONDOOODOODOOODOOooDbOoooo

gN-1,109N—120. .. 09N—1,N
~  fy-o1a0fn—128. 0 NN
0fv_120. . 0fnvo N (Fvoagn—1 )0 v—120 . B v N
0fn-130. . 0fv_L N (fvoi2lgv—12)8fv_1 30 Bfv—1 Nl
1(fn—1,N89N—1,N)

00000000g1bgi08.. 510 0 p0000000000000000000
0O ANDOOODOODOODOOODOO

fa5\945 f55

Jaal9aa  |fsa

J131913  |fs3

f42 g42 f52

hs1
f41 g41 f51




